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// TEEA
const auto cycle{ 5.0 };

// FFHEERmOULY b
glfwSetTime(0.0);

/] T4 > RIORHANWTVWDREIIEDIRT
while (window)

{

oL v / g1fuGetTime()

cycle

// BSZIDER (EHA 57
const auto t{ static_cast<float>(fmod(glfwGetTime(), cycle) / cycle) };
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*/
void translate(float* m, float tx, float ty, float tz)
{
m[ 3] = tx;
m[ 7] = ty;
m[11l] = tz;
m[ @] = m[ 5] = m[10] = m[15] = 1.0f;
m[ 1] = m[ 2] = m[ 4] =
m[ 6] = m[ 8 = m[ 9] =
m[12] = m[13] = m[14] = ©.0f; / é (1) 8 zx \
}
T(t) =T (t;, t,,t,) = J
( ) ( Ly ¥Y» ‘Z) 0O 0 1 tz
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*/

void lerp(float* m, const float* p@, const float* pl, float t)

{
const auto x{ (p1l[@] - p@[@]) * t + po[@] };
const auto y{ (p1[1] - po[1]) * t + po[1] };
const auto z{ (p1[2] - po[2]) * t + po[2] };

translate(m, x, y, z);
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**¥ Catmull-Rom Spline

*/

float catmull rom(float x@, float x1, float x2, float x3, float t)
{

const auto me{ (x2 - x0) * 0.5 };
const auto m1{ (x3 - x1) * 0.5 };

const auto d{ x1 - x2 };
const auto a{ 2.0f * d + mo6 + ml };
const auto b{ -3.0f * d - 2.0f * m@ - ml };

return ((a * t + b) * t + mo) * t + x1;
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**¥ Cardinal Spline

*/

float cardinal(float x@, float x1, float x2, float x3, float t, float c)
{

const auto cl1{ (1.6f - c) * 0.5f };
const auto me{ (x2 - x0) * cl };
const auto m1{ (x3 - x1) * cl };

const auto d{ x1 - x2 };
const auto a{ 2.0f * d + m@6 + ml };
const auto b{ -3.0f *d - 2.6f * m@ - ml };

return ((a * t + b) * t + mo) * t + x1;
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*/
void interpolate(float* p,
const float* po,
const float* pl,
const float* p2,
const float* p3,

float t)

{
p[@] = catmull_rom(pe[@], pl[@], p2[@], p3[e], t);
p[1] = catmull_rom(p@[1], p1[1], p2[1], p3[1], t);
p[Z] = catmull_rom(p@[Z], pl[Z], p2[2], p3[2]J t);
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%k >k p <- q k r

*/

void gmul(float* p, const float* g, const float* r)

{
pl@] = q[1] * r[2] - q[2] * r[1] + r[3] * g[@] + q[3] * r[O];
p[1] = q[2] * r[@] - q[@] * r[2] + r[3] * q[1] + q[3] * r[1];
p[2] = q[e] * r[1] - q[1] * r[@] + r[3] * q[2] + q[3] * r[2];
p[3] = a[3] * r[3] - g[@] * r[@] - r[1] * q[1] - q[2] * r[2];
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** g <- Bli(x, y, z) BE(a)

*/

void gmake(float* q, float x, float y, float z, float a)
{

const auto 1{ x * x +y *y + z * z };

if (1 > 0.0f) {
const auto s{ sin(a *= 0.5f) / sqrt(l) };

q[@] = x * s;

q[l] =y * s;

q[2] =z * s;

q[3] = cos(a);
}




e e M R, t
AU TER(C K D [OIERDZEARD SR

-q BERUCTHSE(IC T ElER T D

- U2y o CEAMUTEDIE 1q BEFERT

B U;c DI (I EIERDE K (C TR D

BRICKDEREMNRIB LU TCTEIERIEINE [EER] THDZ L(IMRZND
(IEARETDICE/ILATEID > XU NLDIERE EE DR TREE)




TUcEX & [BlERDZT A

35

JL

T oE & 2175 & DR1%



O O
BN TN S EER Y TA 2 B i

q — (Q:ca Qy, 4z, Qw)

1—s(2+¢2)  $(4e@y — Q=) $(0:00 + quwdy)
MY — S(Qny + quwq.) 1-— S(CI,Z + qg) S(quz — Quwqz)
$(4:0 — Qudy)  S(@yq: + qwds) 1 —s(g2 + ¢2)

0 0 0

_ O O O

ZZTs=2/n(Q) ROTEANUTETIIUATDOLD (CEHM{LTES

1-2(q; +¢7)  2(¢0qy — =) 2(¢20z + quway) 0

v — | 2000y +awe:) 1-2( 4467 2(eye: — quds) O
20202 — quly) 2(qyq: + quwiz) 1—2(¢2+4q2) O

0 0 0 1

EIUTEC U C UFRREERIC=ARRIFAE




BTN S B TH 215D

/* - B m[ 0] = 1.0f - - zz;
:j [CIERZHAITH m <- EEfIMY7TER q m[ 1] = xy + ZW);/y ,
void grot(float* m, const float* q) nL 2] = 2x - yw;
{ ’ m[ 4] = xy - zw;
const auto xx{ g[@] * qg[@] * 2.0f }; ml 5] = 1.6 - zz - xx;
const auto yy{ q[1] * q[1] * 2.of }; ml 6] = yz + xw;
const auto zz{ q[2] * q[2] * 2.0f }; m[ 8] = zx + yw;
const auto xy{ q[@] * q[1] * 2.0f }; m[ 9] = yz - xw;
const auto yz{ q[1] * q[2] * 2.0f }; m[10] = 1.0f - xx - yy;
const auto zx{ q[2] * q[@] * 2.0f }; m[ 3] =m[ 7] = m[11] =
const auto xw{ q[@] * q[3] * 2.0f }; m[12] = m[13] = m[14] = 9.0f;
const auto yw{ q[1l] * q[3] * 2.0f }; m[15] = 1.0f;
const auto zw{ q[2] * q[3] * 2.0f }; } ’
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qgl_ )(h — QOqatCh = QO(A_l(h)t =slerp(Qo, q;,t) £9 D&

sintp(1 —t)}_ sin(¢t) _
sin ¢ Qo+ sin ¢ =

slerp (q\O! q\1; t) —
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#include <cmath> if (ss == 0.0) {
p[@] = q[0];
/* p[1] = q[1];
¥* p e g & r Z t CHR- p[2] = q[2];
*/ p[3] = q[3];
void slerp(float* p, }
const float* q, else {
const float* r, const auto sp{ sqrt(ss) };
float t) const auto ph{ acos(qr) };
{ const auto pt{ ph * t };
const auto qgr{ const auto tl{ sin(pt) / sp };
g[e] * r[0] + const auto tO{ sin(ph - pt) / sp };
q[1] * r[1] +
q[2] * r[2] + p[@] = q[@] * te + r[0@] * t1;
q[3] * r[3] p[1] = q[1] * t@ + r[1] * t1;
; p[2] = q[2] * t@ + r[2] * t1;
const auto ss{ 1.0f - gr * qgr }; p[3] = q[3] * t6 + r[3] * t1;
}
}
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= slerp(slerp(§;, §;+1,t), slerp(a;,a;41,t),2t(1 —t))
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